E R, f#H9, B R E=p 3 [inch/AGMA]

i R Vg R
i CI-pEga
?
1.0 U ExE0 B35
1.1 fEzhrhsks Pw 10.000 9.777 [kw]
1.2 RE (NS RHIL) n [/min] 1500.0 592.1 [/min]
1.3 #HsE Mk [Nm] 63.67 157.69 [Nm]
1.4 fEzpk= i 2.50
1.5 sp=tezpr= i 2.5333 1.32%
2.0 [ #i s £ i BUERES 25T
21 /J\@ﬂﬁt@ﬁa{g[ #REF! v
2.2 KR #REF! v
2.3 37 B e oS A.. v
2.4 37 B e A.. v
2.5 [ERbEfIIVAE] A MBS IOR T e T v
2.6 FEEZEZ AGMA (Ra min | Ra max) 71/8.......Ra max.= 3.2 / v max.= 8) v
2.7 —RMEHFEEH KAS 2.00
2.8 HALFERFm Lh 10000 [h]
2.9 RERM(IRMAEEZTFL) SH / SF 1.30 1.60
2.10 Bzt BARHEACE A v
3.0 1 SE A AL LI
3.1 HIEES (-Hiﬂ PR ABIEEZS 2 B (11 & 1 oA 3] i) v
3.2 i Ulré F = ha* 1.000 1.000 [modul]
3.3 #iik [}lﬂ(gﬁé c* 0.200 0.200 [modul]
3.4 HRHEFRILAN T ¥ 54 0.286 0.286 [modul]
3.5 HAURIF i ik rf* 0.286 0.286 [modul]
4.0 ) gginst AGEYRAIR
4.1 KINERFOHg z 15 38
4.2 i S 90 90 v [°]
4.3 A HE@EEIE v a 20.0 25.0 v [°1
4.4 iR bm 30.0 0 v ]
4.5 HiioR] (IN) EF v
4.6 5 4 L
4.7 HHE Re/b 0.4 <0,35
48 ABABBOI) v met | 4.000 [mm]
4.9 WHIBKHEER b| 286 < 286 [mm]
4.10 HIRCHOUYT IR m 2.062 [kal
411 RIHRERE SH / SF 1.335 4.530
60 -
40 -
= 20+
‘ T~y | ‘ ‘ ‘ !
-100 40 = =20 ’ “26< — 40 60 80 100
2 20 1 A .
-60 -
5.0 [ apsT-(Hi ST
5.1 %Eiﬁﬂj A EIGVN N D v
5.2 H#EM X1/ xt1 0.581 0.000
5.3 FITPUHTECHUEN (BN x1/x2 | -0.2558 -6.1564
5.4 FIHASHIII (RN ) x1/x2 | -0.0891 -5.9898




5.5 /NIl ST 3% < H >

5.6 WIST-R4 x1/ x2 0.3200 -0.3200

5.7 HIRIST-F 4 xta/xt2 [ 0.0400 -0.0400

5.8 ﬁﬂﬁff&fppfjﬁ[F,JEPEJEIEFJﬁl{ﬂj%&‘e‘ﬁ[[—“fmggﬂl ec 2.9379

5.9 HIBIE i it Hig sae* 0.4386 1.0922

5.10 REMAMHZTLRE SH 1.335 1.384

5.11 ZEHMAKHNLRERE SF 453 4.58
| h‘in‘;ﬁf#ﬁﬂﬁ}

6.0 [ sorepuglyes Ny

b/2
b
dfe
olm de
dae
|

|
6.1 K/NFCAOHTSe z 15 38
6.2 UmEAEER(SIER, ], R ER) met,mmt, mit 4.0000 3.2999 2.5999 [mm]
6.3 EMEL(SIER, ], R ER) men,mmn,min 3.4641 2.8578 2.2516 [mm]
6.4 L (SMEB,HRE(, NER) Re,Rm,Ri 81.707 67.407 53.107 [mm]
6.5 || d| 215410 68.4590 °1
6.6 RS da | 25.2384 70.3657 1
6.7 MU df | 19.0741 64.2033 ]
6.8 HiTJiBI ¥ (SMEIY) dae 69.822 153.997 [mm]
6.9 HiTJBIE ¥ (i) dam 57.602 127.045 [mm]
6.10 HITiBNH ¥ (PEBEY) dai 45.382 100.093 [mm]
6.11 ¥ ¥ (5} EHT) de 60.000 152.000 [mm]
6.12 Ty () dm 49.499 125.398 [mm]
6.13 ¥ (REREY) di 38.998 98.795 [mm]
6.14 L ¥ (SMEREY) dfe 53.452 147.535 [mm]
6.15 HifLf i (o) dfm 44.097 121.714 [mm]
6.16 il ¥ (PIABRY) dfi 34.742 95.893 [mm]
6.17 #ifiF| ga 3.6974 1.9067 °1
6.18 Hifle gf 2.4668 4.2557 1
6.19 i (SMEHI) hae 5.2800 2.7200 [mm]
6.20 ﬁﬂ*’gﬁﬁgj(qﬂ"éjflfj) ha 4.3559 2.2440 [mm]
6.21 ﬁﬂ*@ﬁgj(m%ﬂaﬁ) hai 3.4318 1.7679 [mm]
6.22 HifLl (M ERY) hfe 3.5200 6.0800 [mm]
6.23 Hifl () hf 2.9039 5.0159 [mm]
6.24 Ll (PIERHY) hfi 2.2879 3.9518 [mm]
6.25 M J/E] an 17.4952 [°]
6.26 &R [/ at 20.0000 [°]
6.27 ZNEA b 30.00 [°1
6.28 Eqliiplize | bb 28.4812 [°1
6.29 E[Ejlﬁ%jfyu—Flfj’}’}JE"J awn 17.4953 [°]
6.30 TEBME=RIPIfIAYE 105 awt 20.0000 [°1
6.31 [ﬁﬁlfﬁjﬁﬂ%ﬁ pe 10.883 [mm]
6.32 IR pte 12.566 [mm]
6.33 FES BRI i HAVETR sne 6.3869 4.4959 [mm]
6.34 FES BRI i AV sn 5.2691 3.7090 [mm]
6.35 FES BRI i HAVETR sni 4.1513 2.9222 [mm]
6.36 FEHIRI X VIR sae 1.5194 3.7835 [mm]




6.37 Eﬂﬂ"ﬂ”{[ﬁjlﬁ[@jgﬁjﬁﬁ@ sa 1.2535 3.1213 [mm]

6.38 Eﬂﬂfﬁ[@jlﬁ[gfjguw@ sai 0.9875 2.4591 [mm]

6.39 HIIBN ¥ i i BT sae* 0.4386 1.0922 [modul]

7.0 FHBE AR

7.1 TE—DYFR MR FGRUE zvn' 16.126 103.495

7.2 FE— A RO v 24.102 154.682

7.3 SEER av' 53.216 341.528 [mm]

7.4 IR ¥ dva’ 61.928 346.016 [mm]

7.5 Epi ¥ dvb' 50.007 320.931 [mm]

7.6 HAUI ¥ dvf' 47.408 331.496 [mm]

7.7 B RE av 197.3718 [mm]

7.8 BRI EERNES iv 6.4178

8.0 ﬁﬁ%ﬁ;fﬁfﬂr‘pél?ﬁﬁ

8.1 *ﬁr&]pﬁﬁ :T‘:f,;wélr[f'ljpﬁﬁ =5 € | & 1.5841 1.3538

8.2 ﬁﬂffcff{?ﬁjpfjﬁ[F,Jﬁ‘E‘JE[EBEI{F,J%EJE[L—TIQ,EJ%[I ec 2.9379

8.3 HIRFEH nEl 35387.99 [ /min]

8.4 HiRE N 0.04

8.5 HR[IULT (1] Ei &l m 2.0622 [ka]

8.6 [Ezpas m 97.77%

8.7 YERMERIRHITY V50 308 308 [mm2/sec]

9.0 W RGN
8 H RS

9.1 —XfHfvEY c 14.92

9.2 ui I IR AR cg 21.46

9.4 AR KA 1

9.5 =ZRLR KV 1.144

9.6 FEH%K NK | 9.00E+08 3.55E+08
Pl 2 T BT

9.7 REFA[ [Nk (FEALE )Y) Khp 1.887

9.8 HEMIF [ [Nk (FEfhE )Y) Kha 1.200

9.9 RIFSFRFpzENTe PSR KH 2.591

9.10 HiJupzk ZE 189.81

9.11 HRXEH ZH 2.339

9.12 iZfEARZR Zbeta 0.931

9.13 pﬁf{—ﬁmﬂi Zeps 0.795

9.14 TR ZL 1.079

9.15 Fhfpii A [N v 0.977

9.16 RMEMAMMEERR ZR 0.878

9.17 Mm@ IR ZK 0.850

9.18 AR [V Pk ZN 0.850 0.881

9.19 &'~ RYHRHHHYEE AT ZB / ZD 1.000 1.000
HRES Z H T

9.19 R [jI A (RES 1) Kep 1.887

9.20 A [jiF[E (REE 1) Kra 1.200

9.21 pIpuEl PYETR SR KF 2.591

9.22 IZfEARE Ybeta 0.750

9.23 WHFH Yeps 0.625

9.24 YIORBEREK Ydelta 1.012 0.996

9.25 Rt&R#K YX 1.000 1.000

9.26 HifSAFI S YR 0.958 0.958

9.27 B I YA 1.000

9.28 7 il Pk YT 1.000

9.20 FERM 3 ik YN 1.000 1.000

9.30 I[Nk, MB%(YFa YSa) YFS 3.920 3.877

100 U&zezmk

10.1 REMAEHMZE R SH 1.34 1.38

10.2 EHMAMEHNREREK SF 4.53 4.58




10.3 REM—RIEEM SAE
10.4 REM—REEH BT
11.0 Y heRSH (R fer R Er D)

SHst
SFst

11.1 YImA Ft 2572.44 [N]
11.2 ZMAAH Fn 3114.47 [N]
11.3 ffifpy 7 Fa | 1725.24 325.58 [N]
11.4 ZEMAH Fr 325.58 1725.24
115 iy Fa | -1037.69 1416.21 [N]
11.6 ZEMAH Fr| 1416.21 -1037.69
11.7 ﬁ}i[ﬁﬂﬁl ."}‘ffl@[ﬁ!”ﬁji@@ V | vmax 3.89 <8 [m/s]
11.8 [jif /ot (i wt | wt* 105.82 37.03 [N/mm | MPa_
12.0 M gasrppsi
12.1 BE Ro 7870 7870 [kg/m~3]
12.2 2 LBl (pE) E 206 206 [GPa]
12.3 oL -ARR Rm 880 785 [MPa]
12.4 G -k Rp0.2 685 588 [MPa]
125 ffiEvsk 0.3 0.3
12.6 EfRS L SHlim 1270 1270 [MPa]
12.7 BHRZPIL SFlim 700 700 [MPa]
12.8 MU0y VHV 650 650 [HV]
12.9 il JHV 285 250 [HV]
12.10 #f i fie R HL NHlim | 1.00E+08 | 1.00E+08
12.11 RIS qH 10 10
12.12 i L5 NFlim | 3.00E+06 | 3.00E+06
12.13 ZERET S qF 9 9

| b 20k
13.0 [ 30 3R & @ATAE
13.1 AR S0p 20.00 [°C]
13.2 HmiMiR 60.00 [°C]
13.3 AR5 10.00 [W/m2/K]
13.4 ThEjA 0.22 [kw]
13.5 Lk 0.56 [m2]
14.0 [ g ppsressit gr

TR A -
14.1 FEZA R DA 48.86 66.09 [mm]
14.2 UN:sB Ll DB 37.97 51.36 [mm]
15.0 [V &#Epitar
15.1 Ry fE skt BT 721,22 =i 14 43 = 3.0714
15.2 FREMERSR T ni,n2 =i 2000.0 750.0 = 2.6667
15.3 FA/NETCSO AL o = Sk BT Mk1,n1=Pw1 270.0 1600.0 | = 45.2356







